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Directions (1 – 3) : In each of the following
questions, select the related letter/word/
number from the given alternatives.
funsZ'k (1 & 3) % fuEu izR;sd iz'u esa fn, x, fodYiksa esa ls
lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
 1. KILOGRAM : 512 :: KILOMETER : ?

(A) 216 (B) 342
(C) 500 (D) 729

 2. SISTER : HSIGRE :: MOTHER : ?
(A) NPTHER (B) NOTSER

(C) NTOSRE (D) REHTOM
 3. Histology : Tissue :: Ecology : ?

mÙkd foKku % mÙkd %% ifjfLFkfrdh % \
(A) History/bfrgkl
(B) Environment/i;kZoj.k
(C) Economics/vFkZ'kkL=k
(D) Finance/vFkZO;oLFkk

Directions (4 – 6) : Find the odd word/letters/
number pair/number from the given
alternatives.
funsZ'k (4 & 6)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k
;qXe@la[;k dks pqfu,A
 4. (A) AEIO (B) OUAE

(C) EIOU (D) UOFA

 5. (A) Ostrich/'kqrjeqxZ (B) Nightingale/cqycqy
(C) Parrot/rksrk (D) Quial/cVsj

 6. (A) Increase/c<+uk (B) Addition/of̀¼
(C) Extension/foLrkj (D) Subtraction/?kVkuk

 7. B is mother of A, C is mother of B and D is
son of C. How is A related to D?
B , A dh ekrk gS] C, B dh ekrk gS vkSj D, C dk csVk gSA
A, D ls oSQls lacafèkr gS\
(A) Niece/Hkrhtk (B) Nephew/Hkrhth
(C) Uncle/pkpk (D) None of these/

buesa ls dksbZ ugha
Direction (8-10) : In question numbers 8 to 10,
select the missing number from the given
responses.
funsZ'k (8-10) : iz'u la[;k 8 ls 10 esa] fn, x, fodYiksa esa
lsa foyqIr la[;k pqfu,A
 8. 9 8 9 8

5 7 9 9

5 6 8 ?

20 20 17 47

(A) 2 (B) 3
(C) 5 (D) 6

 9.

9 

55 ?29

76 8 4
(A) 12 (B) 32
(C) 20 (D) 24

 10.
?

72

30

45

8 6
9 5

(A) 38 (B) 50

(C) 48 (D) 54
11. A person goes the South and travels 20 km

then he turns to left and travels 50 km. Now
he turns to right and travels 10km. Then
again he turns to right and travels 20km.
Finally he turns to left and travels 10 km.
Find the distance between initial place and
final place

,d vkneh nf{k.k dks pyrk gS vkSj 20 fdeh- dh nwjh r;
djrk gSA fiQj og ckbZ rjiQ eqM+rk gS vkSj 50 fdeh- dh nwjh
r; djrk gSA vc og nk;ha rjiQ eqM+rk gS vkSj 10 fdeh- dh
nwjh r; djrk gSA fiQj ls og nka;h rjiQ eqM+rk gS vkSj     20

fdeh- dh nwjh r; djrk gSA var esa og cka;h rjiQ eqM+rk gS
vkSj 10 fdeh- dh nwjh r; djrk gSA vkjafHkd LFkku rFkk
vafre LFkku osQ chp dh nwjh Kkr dhft,\
(A) 50 km/fdeh- (B) 45 km/fdeh-
(C) 40 km/fdeh- (D)  60 km/fdeh-

12. How many points will be present on the face
opposite to the face which contains 6 points?
6 fcUnq okys lrg ds foijhr lrg ij fdrus fcUnq gksaxsa\

(A) 2 (B) 4
(C) 5 (D) 1

Directions (13-14) : In the following questions,
a series is given with one terms missing.
Choose the correct alternative from the given
ones that will complete the series:
funsZ'k (13-14) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k
gS ftlesa ,d in yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks vuqØe dks iwjk djsaA
13. 1, 9, 36, 100, ?

(A) 125 (B) 200
(C) 225 (D) 250

14. 1, 4, 27, 256, ?
(A) 625 (B) 3125
(C) 100 (D) 500

15. The sum of ages of 6 children born at the
intervals of every 4 years is 78 years. What
is the age of  the youngest child?

izR;sd 4 lky osQ varjky ij iSnk gq, 6 cPpksa dh vk;q dk
;ksx 78 o"kZ gSA lcls de mez osQ cPPks dh vk;q fdruh gS\
(A) 4 years/o"kZ (B) 3 years/o"kZ
(C) 5 years/o"kZ (D) 2 years/o"kZ

Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
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16. Which one of the following diagram
represents the correct relationship among
Book, Plants and Animals.

fuEufyf[kr esa ls dkSu&lh vkoQ̀fr iqLrd] ouLifr rFkk
tkuoj osQ chp lacaèk dks n'kkZrh gS \

(A) (B)

(C) (D)

Direction (17) : Two statements are given here
which are followed by two conclusions. You
have to consider the two statements to be true
even if they seem to be at variance from
commonly known facts. You have to decide
which of the given conclusions, if any, follow
from the given statements.

funsZ'k (17) % ;gka nks dFku vkSj mlds vkxs nks fu"d"kZ fn,
x, gSaA vkidks bu dFkuksa dks lR; ekudj fopkj djuk gS
pkgs os lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrs gksaA vkidks
fu.kZ; djuk gS fd fn, x, fu"d"kksZ esa ls dkSu lk fu"d"kZ ;fn
dksbZ gS] lgh ykxw gksrk gSA
 17. Statements:/dFku%

1. All Plants are Cat.

lHkh ikSèks fcYyh gSA
2. All Cars are Cat.

lHkh dkjsa fcYyh gSA
Conclusions:/fu"d"kZ%
I. All Plants are Cars.

lHkh ikSèks dkj gSA
II. Some Cars are Plants

oqQN dkjsa ikSèks gSA
(A) Both I and II follows

fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSA
(B) Neither I nor II follows

u rks I u II vuqlj.k djrk gSA
(C) Only conclusion II follows

dsoy fu"d"kZ II vuqlj.k djrk gSA
(D) Only conclusion I follows

dsoy fu"d"kZ I vuqlj.k djrk gSA
18. Arrange the words given below in a

meaningful sequence.

uhps fn, x, 'kCnksa dks ,d lkFkZd vuqozQe esa O;ofLFkr djsaA
(1) Word/'kCn (2) Paragraph/ys[k
(3) Sentence/okD; (4) Letter/v{kj
(A) 4, 3,1, 2 (B) 3, 2, 1, 4
(C) 4, 1, 3, 2 (D) 4, 1, 2, 3

19. In a code language, if HAPPY is coded as
CKKZT, then the word CRACK will be coded
as-

,d dwV Hkk"kk esa] ;fn HAPPY dks CKKZT ls dwfVr djrs
gS] rks CRACK 'kCn dks dwfVr fd;k tk,xk&
(A) XBVMF (B) XIZXQ
(C) XBVFM (D) MFVBX

20. Choose the correct alternatives from the
given ones that will complete the series.
fuEu fodYiksa esa ls lgh fodYi dk p;u djsa tks nh xbZ
Jà[kyk dks iwjk djsxkA
abab _ a_ cd _ b _ d_
(A) cabde (B) cbaec
(C) cbace (D) cbacc

21. Insert the correct mathematical signs in
the following equation.
fuEu lehdj.k esa lgh xf.krh; fpUg MkysaA

25   5   10   2   30   15
(A) ×,– ,÷, +, = (B) ÷, +, ×,–, =
(C) =, ×,÷, ×, +, (D) ÷, –, ×, +, =

 22. In the given figure, find the number of
triangles?
nh xbZ vkoQ̀fr esa] f=kHkqtksa dh la[;k Kkr djsa\

(A) 6 (B) 7

(C) 9 (D) None of these/

buesa ls dksbZ ugha
 23. Identify the figure that will complete the

pattern.
ml vkd`fr dks igpkus tks iSVuZ dks iwjk djsxhA
Question figure:/ iz'u vkÑfr %

Answer figures:/ mÙkj vkÑfr;k¡ %

(A)  (B) (C) (D)
 24. Arrange the following words as per order in

the dictionary.
fuEufyf[kr 'kCnksa dks 'kCndks'k esa fn, x, Øe ds vuqlkj
O;ofLFkr djsaA
1. Obediencia 2. Obediance

3. Obedient 4. Obedience

(A) 4, 3,1, 2 (B) 3, 2, 1, 4
(C) 2, 4, 1, 3 (D) 4, 1, 2, 3

 25. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented by two
classes of letters as in two matrices given
below. The columns and rows of Matrix-I are
numbered from 1 to 4 and that of Matrix-II
are numbered from 5 to 8. A letter from
these matrices can be represented first by
its row and next by its column. E.g., ‘S’ can
be represented by 13, etc., 'D' can be
represented by 76 and ‘M’ can be
represented by 57 etc. Similarly, you have
to identify the set for the word ‘DAMP’.
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,d 'kCn osQoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk
fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn,
x, la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd
uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr
dh la[;k 1 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 8A bu
vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk
la[;k }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, ‘S’ dks 13,

}kjk n'kkZ;k tk ldrk gS] 'D' dks 76, }kjk n'kkZ;k tk ldrk
gS rFkk ‘M’ dks 57 }kjk n'kkZ;k tk ldrk gSA blh rjg ls]
vkidks 'kCn ‘DAMP’ ds fy, la[;k lewg dks igpkuuk gSA

RellR Matrix-I/vkO;wg-I     Matrix-II/vkO;wg-II

1 2 3 4

1 A M S D

2 S M A D

3 M D A S

4 A M S D

  

5 6 7 8

5 A C M P

6 C A D P

7 C D P S

8 A M C P

(A) 24, 66, 86, 78 (B) 24, 66, 78, 68

(C) 24, 66, 43, 58 (D) 76, 33, 42, 58

Rough

www.anushkaacademy.com / www.anushkaias.com / www.gkindiatoday.com
Branches :- Subhash Nagar-8233223322,Fatehpura-7727867730,Anushka Library-9521314152,Ajmer-7340019191, Kankroli-7229922209

ANUSHKA ACADEMY



AN
US

HK
A 

AC
AD

EM
Y

26. Match List I (Crops) with List II (Temperature
Required) and select the correct answer
using the codes given below the lists.

lwph&I (iQly) dks lwph&II (vHkh"V rkieku) ls lqesfyr
dj uhps nh xbZ lwfp;ksa osQ izof̀"V;ksa esa ekStwnk owQVksa dk
mi;ksx djosQ lgh mÙkj dk p;u djsaA

List I/lwph&I       List II/lwph&II

a. Paddy/èkku 1. 20ºC

b. Wheat/xsgw¡ 2. 22ºC

c. Maize/eDdk 3. 25ºC

d. Groundnut/eq¡xiQyh 4. 26ºC

Codes/owQV
a    b     c    d

(A) 1    2    3    4
(B) 4    2    3    1
(C) 2    1    4    3
(D) 1    3    4    2

27. The 43rd edition of G7 summit will be held
in which city?

th&7 f'k[kj lEesyu osQ 43osa laLdj.k dk v;kstu fdl
'kgj esa fd;k tk,xk\
(A) Germany/teZuh
(B) Italy/bVyh
(C) France/izaQkl
(D) United States/la;qDr jkT; vesfjdk

28. For which one of the following judgments
of Supreme Court of India, the
Kesavananda Bharati vs State of India
case in considered a landmark?

osQ'kokuan Hkkjrh; cuke Hkkjr jkT; ekeys esa mPpre
U;k;ky; osQ fuEufyf[kr esa ls fdl iSQlys dks ,sfrgkfld
?kVuk ekuk x;k gS\
(A) The religion cannot be mobilised for

political ends/jktuhfrd var osQ fy, èkeZ dks
lxafBr ugha fd;k tk ldrk gSA

(B) Abolishing untouchability from the

country/ns'k dks NqvkNwr ls [kRe djuk
(C) Right to Life and Liberty cannot be

suspended under any circumstance/

Lora=krk vkSj thou osQ vfèkdkjksa dks fdlh Hkh ifjfLFkfr
esa fuyafcr ugha fd;k tk ldrk gSA

(D) The basic structures of the constitution
as defined in the preamble, can't be

changed/izLrkouk esa ifjHkkf"kr lafoèkku dh cqfu;knh
lajpuk dks ugha cnyk tk ldrk gSA

Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh
29. Swaroop Committee is associated with

Lo:i lfefr lacafèkr gS&
(A) Financial products marketing/foÙkh;

mRiknksa dk foi.ku ls
(B) Sugar marketing/phuh foi.ku ls
(C) Banking/cSfoaQx ls
(D) Capital marketing/iwath foi.ku ls

30. Who has been appointed as the India’s new

ambassador to France?

izQakl osQ fy, Hkkjr osQ u, jktnwr osQ :Ik esa fdlss fu;qDr
fd;k x;k gS\
(A) Vinay Mohan/fou; eksgu
(B) Brajendra Navnit/cztsUnz uouhr
(C) Rajeev Topno/jktho Vksisuks
(D) Nilesh Jain/uhys'k tSu

31. Who of was a founder of the Bharat

Naujawan Sabha in 1926?

1926 esa Hkkjr ukStoku lHkk osQ laLFkkid dkSu Fks\
(A) Lala Lajpat Rai/ykyk yktirjk;
(B) Bhagat Singh/HkDr flag
(C) Lala Hardayal/ykyk gjn;ky

         (D)  Sohan Singh Bhakhna/lksgu flag Hk[kuk
32. The seeds of flowering plants are made up

of :

iq"ih ikSèkksa osQ cht fdl Hkkx ls fufeZr fd, tkrs gS\
(A) Ovary and ovary wall/vaMk'k; vkSj vaMk'k;

&fHkfr
(B) Embryo, food reserves and coat/Hkzw.k] [kk|

fup; (iwQM fjT+koZ) vkSj vkoj.k
(C) Cotyledons/chtik=k

         (D)  Zygotes/;qXeut
33. Which one of the following instrument is

used for measuring the humidity of the

air?

ok;q esa ueh ekius osQ fy, fuEu esa ls fdl ;a=k dk iz;ksx
fd;k tkrk gS\
(A) Wind vane/foM osu
(B) Aneroid barometer/funzzo ok;qnkcekih
(C) Wet and dry bulb thermometer/ue vkSj

'kq"d cYc rkikekih
(D) Maximum and minimum thermometer/

vfèkdre vkSj U;wure rkiekih
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34. Which one of the following statement is

not correct?

fuEufyf[kr esa ls dkSu&lk ,d dFku lR; ugha gS
(A) Weight of a body is different on

different planets/'kjhj dk Hkkj vyx&vyx
xzgksa ij fHkUu gksrk gSA

(B) Mass of a body on the Earth, on the

Moon and in empty space is the same

/'kjhj dk nzO;eku ìFoh ij] panzek ij vkSj ckgjh
ok;qeaMy ij leku gksrk gSA

(C) Weight and mass of a body are equal

at sea level on the surface of the

Earth/ìFoh dh lrg ij 'kjhj dk Hkkj vkSj nzO;eku
leqnz ry ij cjkcj gksrk gS

        (D) None of these/buesa ls dksbZ ugha
35. Data that is copied from an application is

stored in the -

fdlh ,fIyosQ'ku ls dkWih fd;k x;k MkVk________  esa
LVksj fd;k tkrk gS\
(A) Driver/Mªkboj (B) clipboard/fDyicksMZ

        (C)  Terminal/VfeZuy (D) Prompt/izkWEIV
36. Who was the first European to designate

Aryan as a race?

vk;Z dks tkfr osQ :Ik esa ukekZsfn"V djus okyk igyk ;wjksih;
dkSu&Fkk\
(A) William Jones/fofy;e tksUl
(B) H. H Wilson/,p-,p foYlu

         (C) Max Muller/eSDl eqyj
(D) General Cunningham/tujy dfua?ke

37. The high density of population in Nile

Valley and Island of Java is primarily due

to:

uhy ?kkVh vkSj tko}hi esa vkcknh osQ mPp ?kuRo dk eq[;
dkj.k gS&
(A) Intensive agriculture/xgu oQ̀f"k
(B) Industrialisation/vkS|ksfxdj.k
(C) Urbanisation/'kgjhdj.k
(D) Topographic constraints/LFkykòQfrd ckè;rk

38. The Council of Minister is collectively

responsible to which of the following?

fuEufyf[kr esa ls lkewfgd :i ls eaf=k ifj"kn~ fdlosQ izfr
ftEesnkj gS\
(A) Prime Minister/izèkkuea=kh
(B) President/jk"Vªifr
(C) Rajya Sabha/jkT; lHkk
(D) Lok Sabha/yksd lHkk

 39. Match List-I with List-II and select the

correct answer using the codes given below

the lists.

lwph&I dks lwph&II ls lqesfyr dj uhps nh xbZ lwfp;ksa osQ
izof̀"V;ksa esa ekStwnk owQVksa dk mi;ksx djosQ lgh mÙkj dk p;u
djsaA

List I/lwph&I List II/lwph&II

a. Photosynthesis 1. Plasma membrane

izdk'k la'ys"k.k Iyktek f>Yyh
b. Mineral uptake 2. Chloroplast

[kfut ysuk DyksjksIykWLV
c. Respiration 3. Mitochondria

'olu ekbVksdkWfUMª;k
d. Protein synthesis 4. Ribosomes

izksVhu la'ys"k.k   jkbckstkse
Codes/owQV

a   b   c   d

(A) 2   1   3  4

(B) 1   3   4  2

         (C)  3   4   2  1

(D) 4    2   1  3

 40. The Zonal councils have been established

by

tksuy ifj"kn fdlosQ }kjk LFkkfir dh xbZ gS\
(A) Article 263 of the Constitution/lafoèkku

263 osQ vuqNsn }kjk
(B) State Re-organization Act/jkT; iquxaBu

vfèkfu;e }kjk
(C) Zonal Council Act/{ks=kh; ifj"kn vfèkfu;e }kjk
(D) An order of the President of India/Hkkjr

osQ jk"Vªifr osQ vkns'k }kjk
 41. What is the role of positive catalyst in a

chemical reaction?

jklk;fud izfrfozQ;k esa ldkjkRed mRizsjd dh D;k Hkwfedk
gS\
(A) It increases the rate of reaction/;g

izfrfozQ;k dh nj dks c<+k nsrh gS
(B) It decreases the rate of reaction/;g

izfrfozQ;k dh nj dks ?kVk nsrh gS
(C) It increases the yield of the products/

;g mRiknksa dh mit c<+k nsrh gS
(D)  It provides better purity of the products/

;g mRiknksa dks csgrj 'kq¼rk iznku djrh gS
 42. Mid-Day Meal Scheme was started in the

year ?

feM&Ms ehy ;kstuk fdl o"kZ 'kq: dh xbZ Fkh\
(A) 1995 (B) 1996

(C)  1997 (D) 1998
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 43. Karan Singh, who passed away, recently,

was the minister of which Indian state?

dj.k flag] ftudk gky esa fuèku gks x;k gS og fdl Hkkjrh;
jkT; osQ ea=kh Fks\
(A) Sikkim/flfDde
(B) Punjab/iatkc
(C) Himachal Pradesh/fgekpy izns'k
(D) Jammu & Kashmir/tEew vkSj d'ehj

44. The Fourth Schedule to the Constitution

of India deals with:

Hkkjr osQ lafoèkku dh pkSFkh vuqlwph fdlls lacaèk j[krh gS\
(A) Provisions related to the administration

of tribal areas/tutkrh; {ks=kksa esa iz'kklu osQ
lacafèkr micaèk

(B) Allocation of seats in the Council of

States./foèkku ifj"kn esa lhVksa dk vkcaVu
(C) The Union List, the state List and the

Concurrent List/la?k lwph] jkT; lwph ,oa leorhZ
lwph

        (D) Recognized language of the Union of

India./Hkkjrh; la?k dh ekU;rk izkIr Hkk"kk,a
 45. Which among the following has the world’s

largest reserves of uranium?

fuEufyf[kr esa ls fo'o dk lcls cM+k HkaMkj gS&
(A) Australia/vkLVsªfy;k esa
(B) Canada/dukM+k esa

         (C)  Russia/:l esa
(D) USA/la;qDr jkT; vesfjdk esa

 46. Which one of the following is a transition

metal?

fuEUkfyf[kr esa ls ,d laozQe.k èkkrq gS&
(A) Aluminium (Al)/,Y;wehfu;e (Al)

(B) Magnanese (Mn)/eSxuht (Mn)

(C) Magnesium (Mg)/eSXuhf'k;e (Mg)

        (D)  Calcium (Ca)/oSQfY'k;e (Ca)

 47. What is the name of vessel that delivers

the nutrient rich blood from the stomach

and small intestine to the liver?

dkSu&lh ukfydk iks"kd rRoksa ls ;qDr jDr dks isV vkSj NksVh
vkar ls ;̀dr rd igq¡pkrh gS\
(A) Left hepatic artery/ckbZ ;oQ̀r èkeuh
(B) Hepatic vein/;oQ̀r ufydk
(C) Right hepatic artery/nkbZ ;oQ̀r èkeuh
(D) Hepatic portal vein/;oQ̀r iksVZy ufydk

 48. Which one of the following is not a good

source of nutrition calcium?

fuEu esa ls dkSu&lk oSQfY'k;e iks"k.k dk vPNk L=kksr ugha gSA
(A) Rice/pkoy
(B) Ragi/jkxh
(C)  Skimmed milk/fLdEM nwèk
(D) Egg/vaMk

 49. The office of Lokpal and Lokayukta in India

is based on which one of the following?

Hkkjr osQ yksdiky vkSj yksdk;qDr dk in fuEufyf[kr esa ls
vkèkkfjr gksrk gS&
(A) Parliamentary Commissioner of UK/fczVsu

osQ lalnh; vk;qDr ij
(B) Ombudsman in Scandinavia/LoSaQfMusfo;k esa

yksdiky ij
(C) Procurator General of Russia/:l osQ

izksD;wjsVj tujy ij
         (D) Council of State in France/izQakl esa jkT;

ifj"kn ij
 50. The Greek ambassador sent to Chandragupta

Maurya’s court was

panzxqIr ekS;Z dh vnkyr esa ;wukuh }kjk Hkstk x;k jktnwr Fkk&
(A) Kautilya/dkSfVY;
(B) Seleucus Nicator/lsY;qdl fudsVj

        (C)  Megasthenes/eSxkLFkuht
(D) fahien/iQkfg;ku
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Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk
 51. A and B can do a piece of work in 20 days

and 15 days respectively. With the help of
C, they finish the work in 5 days. In how
many days can C alone do the work?

A rFkk B fdlh dke dks ozQe'k% 20 fnu rFkk 15 fnu esa dj
ldrs gSA C dh lgk;rk ls] os 5 fnu esa dke lekIr dj ysrs
gSA C vosQyk ml dke dks fdrus fnu esa djsxk\
(A) 5 days/fnu (B) 6 days/fnu
(C) 10 days/fnu (D) 12 days/fnu

 52. ABC is a right angle triangle whose sides
are 3cm, 4cm and 5cm. If right angle is at
B, then find the perpendicular distance
from vertex B to hypotenuse?

ABC ,d ledks.k f=kHkqt gS ftldh Hkqtk,a 3 lseh-] 4 lseh-]
rFkk 5 lseh- gS ;fn ledks.k B ij gS] rks 'kh"kZ B ls d.kZ ij
Mkys x, yac dh nwjh Kkr dhft,\
(A) 2.5 cm/lseh- (B) 2.4 cm/lseh-
(C) 2 cm/lseh- (D) 3 cm/lseh-

 53. In a examination, there were 2000 boys and
1300 girls. If 72% of the boys and 62% of
girls passed, then how many candidates (in
percent) were failed?

,d ijh{kk esa] 2000 yM+osQ rFkk 1300 yM+fd;k¡ FkhA ;fn
72% yM+osQ vkSj 62% yM+fd;k¡ mÙkh.kZ gq,] rks fdrus
mEehnokj (izfr'kr esa) vuqÙkh.kZ jgs\
(A) 31.94 (B) 32.5
(C) 31 (D) 24

 54. If 3 cot x = 3 cos x, then find the value of

sin4 θ  – cos4 θ  ?

;fn 3 cot x = 3 cos x gS] rks sin4 θ  – cos4 θdk

eku Kkr dhft,\

(A)
1

3
(B)

–1

3

(C)
9

7
(D)

–9

7

 55. If the curved surface area and volume of a
cylinder are 1188 cm2 and 12474 cm3

respectively, then find the ratio between
height and radius of cylinder.

;fn ,d csyu dk oozQ ì"Bh; {ks=kiQy rFkk vk;ru ozQe'k%
1188 lseh-2 vkSj 12474 lseh-3 gS] rks csyu dh mQ¡pkbZ
rFkk f=kT;k dk vuqikr Kkr dhft,\
(A) 3 : 7 (B)  7 : 3

(C) 4 : 3 (D)  5 : 7

 56. A boat goes 15 km against the stream in 30

minutes and goes 30km along the stream

in 30 minutes. Find the total time taken by

boat to cover a distance of 90 km in still

water?

,d uko èkkjk osQ fo:¼ 30 feuV esa 15 fdeh- rFkk èkkjk
osQ lkFk 30 feuV esa 30 fdeh- tkrh gSA uko }kjk fLFkj ty
esa 90 fdeh- dh nwjh dks r; djus esa fy;k x;k le; Kkr
dhft,\

(A) 1
1

2
hours/?kaVk (B) 1 hours/?kaVk

(C) 2
1

2
hours/?kaVk (D) 2 hours/?kaVk

 57. If the sum of a number and its square is

9702, find the number?

;fn ,d la[;k rFkk mlosQ oxZ dk ;ksx 9702 gS] rks la[;k
Kkr dhft,\
(A) 98 (B)  97

(C) 88 (D)  78

 58. If a2 – ab + b2 = 21 and a4 + a2b2 + b4 = 147,

then find the value of a2 + ab + b2 ?

;fn a2 – ab + b2 = 21rFkk a4 + a2b2 + b4 = 147 gS]
rks a2 + ab + b2 dk eku Kkr dhft,\
(A) 8 (B) 7

(C) 49 (D)  14

 59. If the difference between C.I. and S.I for 2

years at 11% is `121, then find the sum?

;fn 11% dh nj ls 2 o"kZ osQ fy, pozQof̀¼ C;kt rFkk
lkèkkj.k C;kt dk varj `121 gS] rks jkf'k Kkr dhft,\
(A) `1000 (B) `9000

(C) `12000 (D) `10000

 60. If cosθ  + secθ  = 2, then find the value of

sinθ  – cosecθ ?

;fn cosθ  + secθ  = 2 gS] rks sinθ  – cosecθ  dk
eku Kkr dhft,\
(A) 1 (B) 0

(C) 2 (D) 
3

2

Direction (61- 63) : The following pie-charts

shows the distribution quantity of fruits at two

fruit shops A and B. Study the pie-chart carefully

to answer the questions given below.
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funsZ'k (61 - 63) % fuEufyf[kr òÙk vkjs[k nks nqdku A vkSj
B ij fofHkUu iQyksa dh ek=kk dk forj.k n'kkZrh gSA o`Ùk vkjs[k
dk vè;;u dj uhps nh xbZ iz'uksa ds mÙkj nsaA

       

10%

26%

20%

20%

Guava/ve:n

Guava/ve:n

Shop A/nqdku AShop A/  A

Shop B/nqdku B

Mango/vke

Mango/vke

Apple/lsc

Apple/lsc

Orange/larjk

Orange/larjk

Others/vU;

Others/vU;

24%

19%

25%

16%

26%

14%

Total Quantity = 800 kg

Total Quantity = 600 kg

oqQy ek=kk = 800 fdyksxzke

oqQy ek=kk = 600 fdyksxzke

 61.   What is the difference between the quantity
of Others at shop A and the quantity of
Orange at shop B?
nqdku A esa vU; dh ek=kk rFkk nqdku B esa larjs dh ek=kk
esa D;k varj gS\
(A) 76 (B) 84
(C) 80 (D) 72

 62. The quantity of Apple at shop B is what
percent of the quantity of Guava at shop A.

nqdku B ij lsc dh ek=kk] nqdku A ij ve:n dh ek=kk dk
fdruk izfr'kr gS\

(A) 210
10

19
(B)  47.5

(C)  120 (D)  83
1

3
 63. If the price of Mango, Apple and Orange is

`40, `60 and `25 per kg respectively, then
find the ratio of their costs at shop B?
;fn vke] lsc vkSj larjs dh dher ozQe'k% ̀ 40, ̀ 60 vkSj
`25 izfr fdyksxzke gS] rks nqdku B ij budh dher dk
vuqikr Kkr dhft,A
(A) 8 : 12 : 5 (B) 100 : 96 : 35
(C) 4 : 6 : 3 (D) 50 : 48 : 35

 64. Find the average of all prime numbers
between to 60 to 100?
60 ls 100 rd oQh lHkh vHkkT; la[;kvksa dk vkSlr Kkr
dhft,\
(A)   83.5 (B) 79
(C) 77.5 (D) 75.5

 65. Which of following has the greatest value

fuEu esa ls fdldk lcls T;knk eku gS\

525 – (–499) ] 756 – (–688) , 2177 – 656

2100 – 731

(A) 2100 – 731 (B) 525 – (–499)

(C) 756 – (–688) (D) 2177 – 656

  66. If x3 – 3

1

x
= 140 and x2 + 2

1

x
= 62, then find

x : 
1

x
 ?

;fn x3 – 3

1

x
= 140 vkSj x2 + 2

1

x
= 62 gks] rks x : 

1

x
 Kkr

dhft,A
(A) 3 : 13 (B) 5 : 8
(C) 8 : 5 (D) 13 : 3

  67. A sells an article to B at a gain of 15%, B
sells it to C at a gain of 20% and C sells it to

D at a gain of 16
2

3
%. If D pays ̀ 80500, then

find the cost price of article for A?

A ,d oLrq dks 15% ykHk ij B dks csprk gS] B  mlh oLrq
dks 20% osQ ykHk ij C dks cspk nsrk gS vkSj C ml oLrq

dks 16
2

3
% osQ ykHk ij D dks csprk gSA ;fn D  ̀ 80500

vnk djrk gS] rks A osQ fy, oLrq dk ozQ; ewY; Kkr dhft,\
(A) `50000 (B) `55000
(C) `60000 (D) `52500

 68. Two numbers are in the ratio of 13 : 27. If
27 is added to numerator and 13 is added to
denominator, then they are in the ratio of
3 : 5. Find the numbers.

nks la[;kvksa dk vuqikr 13 : 27 gSA ;fn va'k esa 27 vkSj
gj esa 13 tksM+ fn;k tkrk gS] rks mudk vuqikr 3 : 5 gks
tkrk gSA la[;k,a Kkr dhft,\
(A) 78,81 (B) 78,162

(C) 39,81 (D) 81,39

 69. A and B can do a piece of work in 30 days
and 40 days respectively. They start work
together. After sometime A leaves the work
and remaining work is done by B in 12 days.
How much days A do the work?

A rFkk B fdlh dke dks ozQe'k% 30 fnu rFkk 40 fnu esa
djrs gSA mUgksaus feydj dke vkjaHk fd;kA oqQN le; ckn
A dke dks NksM+ nsrk gS vkSj 'ks"k dk;Z B }kjk 12  fnu esa
lekIr fd;k tkrk gSA A us fdrus fnu dk;Z fd;k\
(A) 10 days/fnu (B) 15 days/fnu
(C) 12 days/fnu (D) 20 days/fnu
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 70. In the given figure, O is the centre of circle.

If  PAT = 48° and  AOT = 160°, then find
the value of x ?

nh xbZ vkoQ̀fr esa] O oÙ̀k dk osQUnz gSA ;fn  PAT=48°

vkSj AOT = 160°gks] rks x dk eku Kkr dhft,\

O

A 

TP
x

(A) 32° (B) 48°
(C) 52° (D) 80°

 71. Aman goes from A to B at a speed of 25 kmph
and return from B to A at a speed  of 37
kmph. Find the average speed of A man.
veu A ls B rd 25 fdeh- izfr ?kaVk dh xfr ls tkrk gS
vkSj B ls A  37 fdeh- izfr ?kaVk dh xfr ls okfil vkrk gSA
veu dh vkSlr xfr Kkr dhft,A

(A) 29
26

31
 kmph/fdeh-@?kaVk

(B) 30 kmph/fdeh-@?kaVk
(C) 32 kmph/fdeh-@?kaVk

(D) 31
26

29
 kmph/fdeh-@?kaVk

 72. In one and a half year, a sum of `1000
increase to ̀ 1331. If interest is compounded
half yearly, find the rate of interest?
1 o"kZ 6 eghus esa]  `1000 dh jkf'k c<+dj `1331 gks
tkrh gSA ;fn C;kt Nekgh la;ksftr gksrk gS] rks C;kt dh nj
Kkr dhft,\
(A) 7% (B) 14%
(C) 10% (D) 20%

 73. If the three sides are in the ratio of 10 : 15
: 28, then find the triangle?

;fn rhu Hkqtkvksa dk vuqikr 10 : 15 : 28 gS] rks f=kHkqt
Kkr dhft,\
(A) Equilateral Triangle/leckgq f=kHkqt
(B) Isosceles Triangle/lef}ckgq f=kHkqt
(C) Scalene Triangle/fo"keckgq f=kHkqt
(D) Can not form/ugha cu ldrh

 74. A square of side ‘s’ is inscribed in a

equilateral triangle of  side  ‘a’. Find s : a ?

fdlh oxZ dh Hkqtk ‘s’ leckgq f=kHkqt Hkqtk  ‘a’ osQ vanj cuk
gqvk gSA s : a Kkr dhft,\

(A) 2 + 3 : 3 (B) 1 : 2

(C) 3 : 2 + 3 (D) 2 : 2 + 3

 75. Find the value of tanθ  + cot θ ?

tanθ  + cot θ  dk eku Kkr dhft,\

(A) 21 cot θ 21 tan θ

(B) 21 – tan θ 21+cot θ

(C) 21–cot θ 21 tan θ

(D) 21–cot θ
21– tan θ
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Part - IV (English Language)

Direction (Qs.76 – 78): In the following
questions, some part of the sentences have
errors and some are correct. Find out which part
of a sentence has an error and blacken the oval
[ ] corresponding to the appropriate letter (A),
(B), (C). If a sentence is free from error, blacken
the oval corresponding to (D) in the Answer

Sheet.

76. The law is a sleeping giant (A)/and until

someone affected by it (B)/makes it wakes

up it will continue to sleep.(C)/No error (D)

77. The museum depicts (A)/the story of human

kind (B)/ on time and space. (C)/No error(D)

78. Whenever they go out (A)/ shopping, they

(B)/take their pet cat with them.(C)/No

error (D)

Directions (Qs 79-81):The sentences given with
the blanks are to be filled with an appropriate
word(s). Four alternatives are suggested for
each question . Choose the correct alternative
and indicate it by blackening the appropriate

oval in the Answer Sheet.
79. The heart of a mother is a deep ...............at

the bottom of which you will always find
forgiveness.
(A) gap (B) chasm

(C) gorge (D) abyss
80. This auspicious beginning..............well for

a successful completion of our project.
(A) argues (B) augurs
(C) answers (D) attunes

81. They did not sell a single car for a month
and had to..........workers.
(A) lay off (B) lay down

(C) lay  into (D) lay by

Directions : In question no. 82, out of the four
alternatives, choose the word which best
expresses the meaning of the given word.

82.   Chivalrous

(A) Crude (B) Gallant

(C) Handsome (D) Tinkering

Directions : In question no. 83, out of the four
alternatives, choose the word opposite in
meaning to the given word.

83. Fetter

(A) Restore

(B) Liberate

(C) Exonerate

(D) Distract

Directions : In question nos. 84, four words are
given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find
the word spelt correctly/wrongly and mark your

answer in the Answer Sheet.

84. (A) Omitted (B) Ommitted

(C) Omited (D) Ommited

Direction : In Question nos. 85 to 87, four
alternatives are given for the Idiom/Phrase in
bold in below sentences. Choose the alternative
which best expresses the meaning of the Idiom/
Phrase and mark it in the Answer Sheet.

85. Paddle one’s own canoe

(A) be independent and self sufficient

(B) to paddle one’s own bicycle

(C) to play a magician trick

(D) put one’s own money in a safe place

86. Catch 22 situation

(A) a paradoxical situation from which one

cannot escape

(B) a difficult situation which is very

perplexing

(C) a situation which arises due to altercation

(D) painful situation that arises everyday

87. To throw up the sponge

(A) to accept the challenge

(B) to throw the challenge

(C) to forget the challenge

(D) to admit defeat

Direction (Qs. 88 – 92): In the following questions,
a part of the sentence is underlined. Below are
given alternatives to the underlined part at (A),
(B), (C) which may improve the sentence. Choose
the correct alternative. In case no improvement
is needed your answer is (D). Mark your answer in
the Answer sheet
88. But just how far he will manage to run with

those shoes remains to be seen.

(A) But just how farther
(B) But just how much far
(C) But just how further
(D) No improvement

89. If you are living near a market place you
should be ready to bear the disturbances
caused by traffic.
(A) to bear with
(B) to bear away

         (C) to bear upon
(D) No improvement
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90. Due to the fall in real estate prices builders
have stopped from constructing multi-
storeyed office buildings.

(A) at constructing

(B) to constructing

(C) stopped constructing

(D) No improvement

 91. He put up a lot of work on that article.
(A) put in
(B) put down
(C) put over
(D) No improvement

 92. You shall have attended if the court had
instructed you to do so.
(A) would have had attended
(B) would have had to attend
(C) would have to

(D) No improvement

Direction (Qs.93 to 96): In the following

questions, out of the four alternatives, choose

the one which can be substituted for the given

sentence.

 93. Exclusive possession or control of anything.

(A) Monopoly (B) Monism

(C) Monomania (C) Monotheism

 94. A group of three powerful people who share

a position of authority.

(A) Trio (B) Tritium

(C) Trivet (D) Triumvirate

 95. A system of governance controlled by

persons of high intellectual ability.

(A) Oligarchy (B) Democracy

(C) Meritocracy (D) Snobbery

 96. A heavy continuous fall of rain.

(A) Blizzard (B) Downpour

(C) Avalanche (D) Drizzle

Direction (Q. No- 97 - 100) : In these questions,

A passage is given with 4 question following

it. Read the passage carefully and choose the

best answer to each question out of the four

alternatives.

I notice nowadays a little girl at home always

playing the school-game in a corner of the

verandah but never without a flat, wooden foot

rule in hand which she flourishes menacingly

at the pupils assembled in her phantasmagoric

class- room. On investigation, I found that the

cane being discredited, has yielded place to the

foot rule, especially in, ‘Convent’ schools. The flat-

rule has the advantage over the primitive birch

of mauling without marking (which could count

as an achievement in torturing technique) and

it also possesses the innocent appearance of

nonviolent pedagogic equipment. A modern

education naturally, has to adapt his ways to

modern circumstances, and put away obsolete

weapons. The flat-rule is employed only at

primary stage; at higher levels of education,

torments to a young soul are devised in subtle

forms progressively; admissions, textbooks and

examinations are the triple weapons in the

hands of an educator today.

 97. What must have prompted the little girl to
flourish the foot- rule menacingly at the
pupils?
(A) Her teacher must have told her to do

that
(B) Her teacher must have flourished the

foot-rule in her classroom
(C) The pupils assembled there must be

noisy
(D) The girl wants to frighten the pupils

 98. What could be the investigation taken up
by the writer?
(A) Why she used a flat-rule instead of a

cane
(B) Why was she having her class in the

corner
(C) Why she was threatening the pupils

assembled
(D) Why she was always playing the school

game
 99. ‘Pedagogic’ means

(A) methodical
(B) pertaining to punishment
(C) pertaining to the science of teaching
(D) instrumental

100. Select the best title:
(A) Flat rule: The instrument of torture
(B) Modern Education
(C) The Little Girl 
(D) The Imaginary world of Children
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